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2019

ECONOMICS
( General )

( Introductory Macroeconomics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
ors {1 2Py Ted i
(a) Define national income.

B SRR 5= A

{b) What is effective demand?
e ok 3 2

{c) Mention one factor which affects the
propensity to consume.
Teice1el IO ASR (AR @GB! BoAM B
911

(d) Mention one motive behind the demand
for money.

v SR fRdiReR) wifeam @bt Tay 341 |
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(2)

(e) What is economic welfare?

QAT Foma 52
(f) State investment multiplier.
Ritans e e F111
(g) Define cost-push inflation.
Beo TSNS JErifet e fim |
2. Answer the following questions : 2x4=8
wore fan erprR e fa
(a) How is net national income calculated?
9% TE S FTRF S 1 T 2

(b) Mention two limitations of the classical
theory of interest.

rd FRITS SGOR o1 SRR Sears 341 |

(¢ What is meant by consumption
function?

oI Ferm e & qom 2
(d) State Say’s law of markets.
&3 &R Ri&E 7% 91

3. Answer any three of the following questions :

oot a2y R e fofibm T foxy 5x3215

{a) Is national income a good measure of
economic welfare? Give reasons.
oW A ALATE FWR GO S AR
=0 2 TR i e fawn
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(c)

(d)

(e)

(3)

Explain the effects of inflation on
production.

TeoR RS JEPROT ASRATR I 41 |

Discuss the relation between marginal
efficiency of capital and the rate of
interest.

TER AT e W TH TR A
S!S 41 |

Explain the relation between Say’s law
of markets and the classical theory of
employment.

@1 &R R o fRaer wwEie vge T
T WL

Explain the relation between marginal
propensity to consume and investment
multiplier.

AT Togel T WF Rgme w93 59
SRECH!1 A I |

4. Answer any three of the following questioﬁs :

were fiul ey R e fofbr Baw fian -

(@)
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10x3=30

Discuss the various methods for
measurement of national income.

B ww fwer ¥ Rea ez sicamn
o4 |
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(4)

() Explain the classical theory of

employment.
e sigifirs Sg! I 41 |

(c) Explain Keynes’ liquidity preference
theory of interest with diagram.

QLA R ORFANS TG B szs am
01

(d) Discuss the different measures to
control inflation.

TS fraer RS BeremR A 31 |

(e} Explain the measures to raise the
propensity to consume.

Tozslol 2470l % TR ST I 34

(f) Define the following : 3+3+2+2=10
Sore IR ke fae

(i) Marginal propensity to consume
AfeF Soicetal ARl

fii) Autonomous investment

Tage Rfvcns
(i) Liquidity trap
O TR

(iv) Average propensity to consume
T ToTSIel ATl
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